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Question Number : 1 Question Id : 91394312217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prime objective of using audio-lingual aids in a classroom is to keep students to develop :

Options:

o1304z4s00;  2PEHIng and punctuation skills



Listening and speaking skills
91394348002, 2

Reading and writing skills
91394348003, 3 ?

Vocabulary and grammar
91394348004, s

Question Number : 1 Question Id : 91394312217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

T 3R Fag-fo=r S
Q1394245001
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9133454800%.

T3 3R @G Fe

2915334248003,

YTl 3 AT

91334545004,

Question Number : 2 Question Id : 91394312218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is best instrument to evaluate quality or characteristics of a

learner ?
Options:

o1394348005, —hecklist

Rating Scale
91394348006

.‘, T
B91334548007. Invents Iy

91394348008, RUbrics

Question Number : 2 Question Id : 91394312218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

\.'J
91394348005. =
91394348006 Fofi— o Yur

91334548007, j W—
ﬁ ? -

91234548005,

Question Number : 3 Question Id : 91394312219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The growth, development and increased access to technology over decades have contributed

to learner characteristics in terms of using technology. Below are given two sets, please

match the generation as being popularly called based on birth year :
Set-1 Set - 11

(a) Born 1945 and before (i)  Generation Z
(b) Born 1946 to 1964 (i) Generation Y
(c) Born 1965 to 1976 (iif) Baby Boomer
( (
( (

d) Born 1977 to 1995 iv) Traditionalist

e)  Born 1996 and after v) Generation X

Options:

2912334548003,

91394348010. i) (@) (@) (@v) (V)
91394348011 (i) (v) () () (v)
91394348012, (i) (iv) (1) (v) (i)

Question Number : 3 Question Id : 91394312219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Fe
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Options:

91394343009, (v) (i) (v) @) (D)
91294348010, (i) (1) (@) (@) (v)
91394348011, (1) (v) () (i) (iv)

2915334248012, (ILI'.) (IV) (l) (V) (I_I'.)

Question Number : 4 Question Id : 91394312220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following is correct statement in relation to fishbowl style of classroom

layout ?
Options:

Students sit in “C’" shape formation with teacher at the centre.
91394348013,

Students are grouped together on small tables so that they can engage in small group

S discussions

Some students sit close together in a circle in the centre of classroom while the rest of

students stand at the back of classroom and observe the group discussion.
91394348015



Students sit in horizontal rows so that they can clearly see each other but this does not

facilitate group discussion.
91394348016,

Question Number : 4 Question Id : 91394312220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 5 Question Id : 91394312221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following is the apex institution in India working in the area of training

educational planners and administrators ?
Options:

2915334248017,

91334548018, SCERT

s1394345010 VLA

91334548020, NCTE

Question Number : 5 Question Id : 91394312221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2912334548017,

jecs fies) degce | g |

91334548018,
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21234548020,

Question Number : 6 Question Id : 91394312222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T'he identification of a research problem involves

(a) Selection of the academic area

(b) Demarcation of the study area

(c) Rejection of personal and collective choices
(d) Specific topics within the area

(e) Management of financial sources

Code :

Options:

(a), (b) and ()

91334548021,

(b), (c) and (d)

91334548022,

(a), (b) and (d)

91334548023,

(c), (d) and (e)

91334548024,

Question Number : 6 Question Id : 91394312222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(), (b) 3R (c)

91334548021,

c) 3R (d)

913943248022 (b)’ (

(a), (b) 3R (d)

91334548023,

(c), (d) 3R (e)

91334548024,

Question Number : 7 Question Id : 91394312223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Participatory research is also described as :
Options:

150434500 INdIVidual-based

Group-based
91394348026,

Communitv-based
91394348027, :

1394345008 SO VErNMent-based

Question Number : 7 Question Id : 91394312223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

- 3T

215394248025,

G- AT

B1334548026.

- ST

215334248027,

TR - AT

291234548025,

Question Number : 8 Question Id : 91394312224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the f(}[[n:.‘swing is an incorrcet statement ?

Options:
Ex post facto research uses data that you collected before you came up with your
s15943a5029, 1Y POthesis

Archival research uses data collected and sometimes coded by someone else.
91394348030, *

S Observational methods are used in both correlational and experimental research.

Using a scatterplot to graph your correlational data will not tell you the direction of the

relationship (positive or negative).
91394348032,

Question Number : 8 Question Id : 91394312224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 9 Question Id : 91394312225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The advantages of secondary analysis in research are

(a) Itis inexpensive.

b) There is no need to construct a measuring instrument.

c¢) Data archives are a valuable source.

d) Useful opportunity is provided to produce valuable knowledge.
e) Provides less time to understand data.

Code :

Options:

(a), (), (d) and (e)

H1334548033.

(a), (b), (c) and (d)

91334548024,

s1394345035. (0)s (€) and (e)

o1394345036. (Q) and (e) only

Question Number : 9 Question Id : 91394312225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B912334548033.

91394348034, (), (b), () 3 (d)
91394348035,

91334548036,

Question Number : 10 Question Id : 91394312226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match the type of validity with its major source of problem :

(a) Construct validity (i)  Faulty or poor measure, resulting in

mislabelling /misinterpreting behaviour
(b)  External validity (i1) Treatment and no-treatment groups were

unequal before the study began

(c) Internal validity (iii) Sample of participants was not representative
Code :
(a) (b) (o
Options:

91334548037, (l) (11) (LI!J'.)
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2153942480355,

91334548039, [:H.l} ([) (ﬂ)

(i) () (i)

2153342458040,

Question Number : 10 Question Id : 91394312226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91334548037, (1) [:I_[) (LLI'.)

91334548038, (l) (I_LI'.) (”‘)

91334548039,

91334548040, (I_I'.) (l) (I_LI'.)

Sub-Section Number: 2
Sub-Section 1d: 913943620
Question Shuffling Allowed : Yes

Question Id : 91394312227 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuestion Label @ Comprehension



Read the passage carefully and answer questions from 11 to 15 :

The phrase “public diplomacy” reflects multiple viewpoints and ideas and hence, does
not possess a unique, well-established conceptualisation. Yet, insimple words public diplomacy
is the influence of nation on foreign audiences. Public diplomacy may also be defined as
‘direct communication with foreign peoples, with the aim of affecting their thinking and
ultimately, that of their governments’. Hence, public diplomacy can be thought of as a process
of a nation listening and understanding the needs of other countries and communicating its
viewpoint to eventually build relationships. Public diplomacy is based on the identity and
reputation of a nation that is dictated by many factors : political, social, economic and
cultural. Trust has been highlighted as the most important factor necessary to initiate a
conversation, sustain a dialogue and build relationships. The focus on developing
relationships is also indicated in the definition of public diplomacy as ‘the process by which
direct relations are pursued with a country’s people to advance the interests and extend the
values of those being represented’. It is also highlighted that engagement and dialogue as
key indicators of developing relationships in public diplomacy. “Effective public diplomacy
is a two-way street with reciprocal influence on both the source and receiver involved in
the ongoing communication process”. The ongoing communication process leads to
developing lasting relationships with a foreign audience that bestows nations with soft power.
Soft power is an advantage in world affairs and incites admiration and respect in other parts
of the world. The soft power of a country is defined by three factors : its culture, political
values and foreign policies. All these factors primarily rest on its ability to shape preference
of others by using strategic communication skills. We must remember that public diplomacy
is not a public relations campaign, but to create on enabling environment for government
policies.

Sub questions

Question Number : 11 Question Id : 91394312228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Indentify the objective of public diplomacy.
Options:

Influence the nation
91394348041,

Communicate directly with people
91394348042, “

Affect the thinking of foreign governments
91394348043,

Conceptualise national listening
91394348044,



Question Number : 12 Question Id : 91394312229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What factors impact the identity of a nation ?
Options:
3 ) g S, - . .
POA— Political, social, economic and cultural

- k= .., o » "
91394348046 National reputation

OTe1o - r
o1maasas04- LOTEigN audience

91394348048, Different ideas

Question Number : 13 Question Id : 91394312230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
Direct relations are necessary with a country to :
Options:

2 ; X . :
91394248049, Pursue vested interest

. -0 ication sourc
SRRy Influence the communication source

- - —] L" = .-_ L-!
SRR Advance the representative values

Highlight the key indicators
91394348052, : :

Question Number : 14 Question Id : 91394312231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
T'he ongoing communication process will provide :
Options:

Development of foreign audience
91394348053, >

I :
1304345054 rdvantageous soft power

TR .
SSSRE Admiration for other countries



sition of ¢ ¢ s on others
SR Imposition of cultural values on others

Question Number : 15 Question Id : 91394312232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What does the passage declare ?

a) Public diplomacy is not for indirect relations with other countries.
b) Public diplomacy builds relations with other countries.

c)  Trust is needed to sustain a dialogue.

(d) Strategic communication skills will help shape others” preference.
(e)  Public diplomacy is not public relations.

f) Soft power is not used to have a role in world affairs.

Code :

Options:

(a), (b), (c) and (d)

B91334548057.

(b), (d), (e) and (f)

91394348058,
91394348059, (a), (d), (e) and (f)

(b), (c), (d) and (e)

91334548060,

Question Id : 91394312227 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Question Number : 11 Question Id : 91394312228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

T2 ] YYTfad HET

91334545041,

Sl & 919 YeIe] Halg

9133454504%2.
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91334548043,
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Correct Marks: 2 Wrong Marks: 0
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Options:

91234548045,

e S

2915334248046, =
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2912334548047,
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2912334548045,

Question Number : 13 Question Id : 91394312230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Options:

fafea ward fea 9eq & fag

91334548043,

HER o |4 ol 94Ifad & & fau

2915334248050,

gfdfereasr Hed =l dgren o % fou

215394248051,

Hedqul FETehi o1 ISR & &+ fou

9133454805%2.

Question Number : 14 Question Id : 91394312231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Correct Marks: 2 Wrong Marks: 0
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Options:

91394345057, (@), (D), () Sl (d)
(b), (), (e) 3 (f)

H91334548058.

(), (d), (e) ¥R (f)

91334548059,

(b), (0), (d) 3TR (e)

215394248080,

Sub-Section Number: 3
Sub-Section 1d: 913943621
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394312233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Persuasive communication in a classroom intends to make penp[e accept a particu[ar :

Options:

91394343051 Verbal noise



Verbal jueelery
91394348062, e

§ R B
91394343063 L Osition

91394348064, Disorientation

Question Number : 16 Question Id : 91394312233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B91234548063.

H1334548064, e i

Question Number : 17 Question Id : 91394312234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Effective communication inside the classroom leads to :
(a) Problem - solving strategies
(b) Intensive - knowledge
(c) Extensive - knowledge
(d) Uncontrolled discourses
(e) Vertical communication

Code :
Options:

(a), (b) and (c)

B1234548065.

(b), (¢) and (d)

H91234548066,



(c), (d) and (e)

2153394248067,

(d), (e) and (a)

91334548068,

Question Number : 17 Question Id : 91394312234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b) 3R (c)

21594248085,

(b), (c) ¥R (d)

91334548066,

(©), (d) 3R (e)

91334548067,

(d), (e) 3R (a)

91334548068,

Question Number : 18 Question Id : 91394312235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Educational broadcasting suffers from the factor of :
Options:

Extended interactivity
913943248069, .

91394345070, Automated communication

- 1, Il'! -
139434507, 1 itention span

Internal-external mmnnpn[\;
91394348072, /



Question Number : 18 Question Id : 91394312235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
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Question Number : 19 Question Id : 91394312236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Questioning is a primary tool of classroom communication for teachers when

they lead discussions.

Reason (R) : Student learning is the major motive of teachers, made possible by questions

and answers.
Code :

Options:

91394348073, Both (A) and (R) are true.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394343074

sysazancrs W) 15 true, but (R) is false.

(A) is false, but (R) is true.

2915334248076,

Question Number : 19 Question Id : 91394312236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATURTT (A) :  Toeqeni o TTU Feq—T1a W01 & F=1sil o A W99 S T Wefis g & 1
T (R) : foranedt =1 ATerM™ 1ereni &1 Y@ <99 21 © T Ui 3R 3 & 31 § Hed
AT ST 2 |

G



Options:

_(A)ﬁR(R)TfFﬁHﬁ%I

291234548073

91334548074,

91394343075, (A) Hel g, Ihq (R) Hel el 2l

(A) H& & %, fohg (R) 9&1 T

2912334548076,

Question Number : 20 Question Id : 91394312237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

When students and teachers involve in communication, the purposes are :
a) To develop professional working relationship.
b) To create a participatory environment in the classroom.

(c) To engage in out-of-classroom interaction.
(d) To seek teachers” intervention in personal matters.

e) To control teachers’ attitude towards students.

Options:

(a), (b) and ()

91334548077,

(a), (d) and (e)

91334548078,

(b), (c) and (d)

B1334548073.

(c), (d) and (e)

91234548080,

Question Number : 20 Question Id : 91394312237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e BT SR e Shwer § e 2 €, o 36 3599 2l ¢
(a) SITFIHE fohareas HaY fasfga s & fau

(b) el H HRYF 9fEw s & fag |

(c) ohell h =18 sl H{d:fshan | 9rT o & fog |

(d) =it Aret § foees =1 e o & o fofe |

(e) HEI % Ufd Toregehi o =FRR % A & & fau

(a), (b) 3R ()

91334548077,

(a), (d) 3R (e)

91334548078,

(b), (c) 3R (d)

91334548073,

(c), (d) 3R (e)

291234548080,

Question Number : 21 Question Id : 91394312238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If HYDERABAD is coded as DABAREDYH, then BENGALURU will be coded as :

Options:

91394343051 N YPQRSTUB

91394245052, UXURULCAB

91394345083 URULAGNEB

291234548054, BDL'I("H”K

Question Number : 21 Question Id : 91394312238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e HYDERABAD &I DABAREDYH % ¥4 H $ieag a1 W11 &, 9 BENGALURU 31 e 1
B ?

Options:

XYPQRSTUB
91394343081,

1294345082 D URU LCAB

91334548083, URULAGNEDB

91394343084, DPDEFGHIJK

Question Number : 22 Question Id : 91394312239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the number series 10, 13, 22, 49, ? ;

Options:

C
H1334548085. 89
H1334548086.

H1334548087.

913345480858,

Question Number : 22 Question Id : 91394312239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

" * * & =y
10,13,22,49, _ 2 ki Gl H 3T 39 2 ¢
Options:

B91334548085.

2153942480856, 126
215942480857, 97

1
91394348088, 130

Question Number : 23 Question Id : 91394312240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The next term in the letter series EE, GG, 1], KN, MS, 7
Options:

00

21234548059,

212334548030, OY

YO

913345480391,

XX

91334548082,

Question Number : 23 Question Id : 91394312240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U H@gel EE, GG, IJ, KN, MS, __ 2 H 37Tell U8 2 :

Options:

91334548089, 00

T )
212334548030, OY

9123345480391, YO

B913345480392. XY

Question Number : 24 Question Id : 91394312241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the word which is different from the rest :
Options:

91394348093, YVIite

Kn-:r:w[edge
91394348094,

913943480905, Read
91394348096, Learn

Question Number : 24 Question Id : 91394312241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T & faum wse =1 4 :

SLERL

913345480393,

EIR|

2912334548094,

H91334548035. i

2915334248036,

Question Number : 25 Question Id : 91394312242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Pointing to a woman, a man siad, “Her father is the only son of my father”. How is the man
related to the woman ?

Options:

Father-in-law of the woman
91394348097,

91394348095, Father of the woman

91394348099, Brother of the woman

. Brother-in-law of the woman

Question Number : 25 Question Id : 91394312242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Afea i AR A L g T Je9 A Hel, ' 35k foar FY f9a1 6 w99 gF 2§ 9% Y =9
Hfgen ¥ FY Fafyd &2

Options:

91334548097, HIeTl bl H{j}{

_ﬂﬁwmﬁm

21334248038

H913345480549, liE AT <l lﬂg-

91394343100, NECTl T STGI-gT—<dl



Question Number : 26 Question Id : 91394312243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises (a) and (b). Four conclusions are drawn from them. Select
the code that states validly drawn conclusion(s) [taking the premises individually or jointly].

Premises : (a) All diamonds are precious stones.
(b)  Some carbon compounds are diamonds.
Conclusions :
i)  All precious stones are diamonds.
ii) Some non-carbon compounds are precious stones.
iii)  All precious stones are carbon compounds.
iv) Some carbon compounds are precious stones.
Code :
Options:

(i) and (iv)

912334545101,

91394348102, (i) and (iv)

T y
913345458103, (I_LI'.) ¢ I'I.[}

(iv) only
91394348104, :

Question Number : 26 Question Id : 91394312243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ﬁﬁﬁraﬂaﬁaﬁa?a)ﬁr{(b)mﬂq%! 70 ¥ =R frepd freeel U ¥ 1 39 e w1 99 e S
Freepd § 3fea €9 9 3TYA § [ SURaE &l T 31991 H93d 9 9 od 8¢ | |
WMUMETH :  (a) HYT BN vl Gee € |

(b) TS e IR EX
frerd

(i) | TR Teer € E |

(i) TS TSR AMTh TR Teok T |

(iii) G ST Tee FTeA AE T |

(iv) TS HTeA AT AT Fe2r T |
he

Options:

(i) 3R (iv)

2915394245101,



(ii) SR (iv)

913345458102,

Fad (i)

9123345458103,

Fad (iv)

2915334245104,

Question Number : 27 Question Id : 91394312244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Validity in logical reasoning refers to :

(a) Any simple single proposition

(b) Relation between premises and conclusions
(c) The conclusion alone

(d) Truth of the premises

Select the correct code from below :
Options:

(a) and (b)

913345458105,

(b) and (c)

913345451086,

(b) alone

2915334248107,

(d) alone
91394348108,

Question Number : 27 Question Id : 91394312244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TJereTia TE 1 dua efatea § 9 fees Hefaa €2
(a) IS A Tahdl fa=r

(b) STUREE AR FohY & &9 oy

(c) heel ferd

(d) STHNEE i F=a1

= fou 7T faehey § 9 GW& $e g

Options:




(a) 3R (b)

91334545105,

(b) 3R ()

91334548106,

e (b)

91334545107,

Fad (d)

2915942458108,

Question Number : 28 Question Id : 91394312245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In a valid deductive argument, if the premises are true, then :
Options:

--T } 2 L.‘. ] I..‘ I..‘ -
01594348100, Conclusion must be false

“onclusion can be probably ,
015943481 10 Conclusion can be probably true

Srgsaags p Conclusion must be true.

~onclusi At & tacs e S,
41394342112, (:_IL‘!I'I.L[LI":-IIZ]I'I ﬂ"lc'l} some bmes I_E_' rue

Question Number : 28 Question Id : 91394312245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fordT 9% fTATeHer 9eh o afe STaRETs™ W 8, o

91394348109, et 79 3T B =Ry |

f=hY HYad: 99 B 9d ¢ |

91394348110,
91394345111 1ToRY STTEAA: §A BT =MET |
91394348112, Ty -yl 9 B 9ehdl ¢ |

Question Number : 29 Question Id : 91394312246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identity the reasoning in the following argument :

“A person without a goal is like a computer without a program”.
Options:

Hypothetical

2915334248113,

91394345114 Deductive

91394345115, Inductive

Analogical
91394348116,

Question Number : 29 Question Id : 91394312246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frefafed qe § 9 qeRwife =1 gg=nn .
" AeTdH AT TH H2ed 1 a¥E ¢ forad s 9 92 &l |

Options:

2915334248113,

91394348114, |1 IHAICHS

HANTHATHS

2915942458115,

SIFEERLE
913943481186,

Question Number : 30 Question Id : 91394312247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Among the following statements two are contradictory to each other. Select the code that
represents them :

Statements :

(a) All judges are lawyers.

(b) Some judges are lawyers.

(c) Some judges are not lawyers.
(d) No judges are lawyers.

Code :

Options:



(a) and (b)

913345458117,

(a) and (c)

2915942458115,

(a) and (d)

9123345481149,

(b) and (d)

91234548120,

Question Number : 30 Question Id : 91394312247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fam 1 s 2 S T S B g T e e A =
¥ :

(a) T =i g ¥

(b) FS A aFTA € |

() FS AT THIA Te € |

(d) E =AY FEhTe TE ¢

chec :

Options:

(a) 3R (b)

91234548117,

(a) ¥R ()

913345458118,

(a) 3R (d)

913345458119,

(b) 3R (d)

91334548120,

Sub-Section Number: 4
Sub-Section 1d: 913943622
Question Shuffling Allowed : Yes

Question Id : 91394312248 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)



Cuesticon Label | Comprehension

) Number of classes taken by the teacher daily _
Name of the ) " | Remuneration
Teacher [On Monday, Tuesday and [ On Thursday and per class
Wednesday Friday
A 2 0 Z 5000
B 3 - T 8000
C 1 3 7 6000
D 2 2 < 4000
E 3 1 T 3000

The above table shows the number of classes taken by each teacher in different days of the
week and the remuneration per class per teacher. Saturdays and Sundays are holidays.
Based on the above data, answer the questions given below. One cell is empty and you may
need to calculate it depending upon the information available in the question.

Sub questions

Question Number : 31 Question Id : 91394312249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the total remuneration earned by teacher E in one week ?

Options:

s1304348101. S 12,000

91394345122, X 9,000

< 23,000
91394348123,

o1394343124. S 02,000

Question Number : 32 Question Id : 91394312250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In one week, teacher B earned < 72,000. How many hours of classes did he take on Thursday
and Friday ?

Options:

91334545125, 0

1 hr. daily
91394348126, 2



2 hrs. daily
91394348127, J

3 hrs. daily
91394248128, J

Question Number : 33 Question Id : 91394312251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ratio of the total weekly earning of teacher A to the total weekly earning of teacher D
IS :

Options:
e
91394348129, O 1 O
5 =
91394348130, O - 4
L [ 4
91394348131, < -

91394348132, 2 - O

Question Number : 34 Question Id : 91394312252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The total amount spent by the teaching institute for paying remuneration to all the teachers
for taking classes on Monday only is :

Options:

91394348133 % 27,000

X 58,000

9153394245154

91394348135 < /000

91334548136, N 52’ 000

Question Number : 35 Question Id : 91394312253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assume that 4 weeks constitute a month. What will be teacher D’s earnings in a month ?

Options:

o159434513- % 1,060,000



91334548138

913345458129

913845458140

Question Id : 91394312248 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Number

< 40,000

< 1,20,000

< 16,000

s: (31to 35)

Cuesticon Label | Comprehiension

T91e7eR G ek ohedl o1 HeE&Al -
rerh &
TR, FeER 38 g9aR | TEaR 3R R RUICILED

A 2 0 Z 5000
B 3 " Z 8000
C 1 3 Z 6000
D 2 2 Z 4000
E 3 1 Z 3000

ST difctehl H Yook f1ereh §R1 9wre o Ster-fer faAl § off T2 shenedi iR ufa =i ufq forers
igfes &1 Seord foan 7o ¥ 1 wifen iR e e & faq )
IUad TSl o YR W, 9 feu U g % SW dfNU U YT @reft § SR ST yeA o

IS YT F SMER W IR HAT IS Tl ¢ |

Sub questions

Question Number : 31 Question Id : 91394312249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U TE H e E R A o g €

Options:

91334548121

913345481272

91334548123

91334548124

< 12,000

< 9,000

X 23,000

X 33,000




Question Number : 32 Question Id : 91394312250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U T | e B T 72,000 AT foran | TEAR SR YERAR &1 394 fohde S et o 2

Options:
291394248125, 0

1 5 yfafed

215394248126

Q1294245127 2 ‘F"% l
3 ¥¢ gfdafeq

91334548125,

Question Number : 33 Question Id : 91394312251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fo1ereh A 3T forerar D g1 Ft Arafesk ARSI 3T =61 3794 © ¢

Options:

913943438129, 2 - O

K & 4
91394345130 2 - 4

r_..]
s

91234548121,
91334548132,

Question Number : 34 Question Id : 91394312252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FHIA QMHAR 1 FHefl o o gel GUT T1ehi 1 o i1 Harawit & o foTg e ST g1 =39 &
?—FIT@T%"
Options:

1394348133, < 27,000

01394348134, S 20,000

a1394348135. S 27,000

91394348136, 1 22,000



Question Number : 35 Question Id : 91394312253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT Siifs fof T AR H 4 AR € | Uah "R H f9etsh D i AfSid 31 2

Options:

< 1,60,000

912334548137,

91394345135 X 40,000

< 1,20,000

913345458139,

< 16,000

91234548140,

Sub-Section Number: 5
Sub-Section 1d: 913943623
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394312254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are Operating Systems ?

(a) UNIX (b) Ubuntu (c) Mac (d) Ada
Code:

Options:

91334545141, OHIF (ﬂ) and (L)

Only (a), (c) and (d)

9133454514Z2.

Only (a), (b) and (c)

91334545143,

Only (b) and (d)

2915394245144,

Question Number : 36 Question Id : 91394312254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frreifera | 9 =M siqefen fawen §2
(a) I (b) &L (c) HH (d) Tel
he



Options:

% (a) 3R (o)

912334545141,

faF (a), (c) 3R (d)

9133454514Z2.

fah (a), (b) 3R (c)

912345458143,

fad (b) iR (d)

91334545144,

Question Number : 37 Question Id : 91394312255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
IRC is the acronym of :
Options:

International Relay Chat
91394348145, :

Internet Related Commerce
91394348146,

1394345147 1NTETEL Relay Chat

% - ey
91594348148 Information Relay Centre

Question Number : 37 Question Id : 91394312255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3. AR HT, Toheen yss-4Heay T2
Options:

2915342458145, 53 RIS ‘ﬁﬁ ﬁz

[

g2 Refes +imd

9153394245146

91334545147, : ﬁ %‘E
9133454581485, E g Ill | ‘ﬁﬁ ElE

Question Number : 38 Question Id : 91394312256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
MIME stands for :
Options:

Multipurpose Internet Mail Extensions
91394348149

91394345150, h-’lu[tl[mlrpnse Internet Mail Entity

Multiple Internet Mail Extensions
91394348151,

Sy Multiple Internet Mail Entities

Question Number : 38 Question Id : 91394312256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UH.3E. UH.E. o1 31 379 § 2

Options:

913345451495,

91394345150, NC=HHH ot HO Q[EEI

qeeidd g2e Hel TSy

H1394548151.

TR qd 322 Ul Ufeds

91334548152,

Question Number : 39 Question Id : 91394312257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is a short-cut to “Undo Typing” ?

Options:

91394348153, Ctrl TP

91394345154 CIITY

91394348155, LT Z

912334548156, Ctrl+5S



Question Number : 39 Question Id : 91394312257 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iR § | &M ' og eEftn’’ &1 widwe 772
Options:

e+

2915942458155, =

g+ AR

91334548154,

HIA + IS

2915942458155, A

Y ¥
held + TH
21394245156,

Question Number : 40 Question Id : 91394312258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At which layer of OSI Model of Networking, HT'TP works ?
Options:
15043451, L Dysical Layer

Iransport Layer
91394348158 /

T 2 i T
91294248159 Network Layer

yplicatio AT
o1504zam1eo tPpPlication Layer

Question Number : 40 Question Id : 91394312258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TegTaT o 3. UH.AE. Hied & 59 TR W, =239 ™ Far 82

Options:

91394348157, difeh &R (THISTehd 3))

qiiged T (ZEare oidl)

912345458158,

91394348159, Teah T (FZeeh <T3))



91394348160 EH@SI’@[TI W (Wﬁ -(aﬁﬁ)

Question Number : 41 Question Id : 91394312259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the following agricultural practices :

(a) Contour bunding
(b) Relay cropping
(c) Zero tillage

In the context of global climatic change, which of them help/helps in carbon
sequestration/ storage in the soil ?

Options:

(a) and (b) only

913345458161,

(r:) only
91394348162, /

91394348163, (a) and (c) only

(a), (b) and (c)

91334545164,

Question Number : 41 Question Id : 91394312259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et it vgfa w fo=m #ifey
(a) TA-WAR HAUHH HHl

(b) T wya

() A

SfYas Serarg uftadd & ded § 370 4 fhad /fF8 ga1 § *eH ggaior/ Yerv § gee fierd 82

Options:

FIA (a) 3R (b)

215942458161,

Fad (c)

91234548162,

FIA (a) 3N ()

913345458163,



(@), (b) 3 ()

91334545164,

Question Number : 42 Question Id : 91394312260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Find the odd one from below :

Options:
Perceiving
91394348165 &
Listening
91394343166
91394345167, INIErring
Comprehending
91394343168,

Question Number : 42 Question Id : 91394312260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Options:

geaefiRTor (afhfa)

9123345458165,

91334545166, A4

91394348167, TGN (3TRH)

2915334248165, a}‘a
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Assertion (A) : Hails damage the standing crops.

Reason (R) : In India, hails occur only during the winter season.
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Who was the Chairman of Secondary Education Commission set up in 1952 ?
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Match Set - I with Set - 11 :

Set - 1 Set - 11

(Regulatory body) (Field of regulation)
(a) NCTE (i) Law
(b) BCI (ii)  Architecture
(c) COA (iif) Professional courses
(d) NBA (iv) Teacher education
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The LEAP programme of MHRD is aimed to train University faculties in :
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Academic leadership
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The National Education Day is celebrated to commemorate the birth anniversary of
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91394345193 DT. Zakir Hussain

Justice Hidayathulla
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2 - P
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With reference to ‘Right to Education” (RTE) which among the following is correct ?
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Making higher education upto 21 years of age a fundamental right.
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b =4 - A ' . p— .
—— I mwdmg free uniforms to students upto 18 years of age.

No examination of students upto 14 years of age.
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01504545500 Making elementary education upto 14 years of age a fundamental right.
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(iii) fogrem @reft 2

(iv) T H &2

2 R e e § @ IR IR

% :

Options:

(1), (i) 3 (iii) =&t
91394348345,

(ii), (iii) 3T (iv) FE
913943548246,

(i) 3 (iv
91394248347, } )@

(i), (iii) 3 (iv) &
91394345348,

Question Number : 88 Question Id : 91394312306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frrferfiaa # st w4 § 2
(i) focewa

(i) et Gt s

(i) 6T & TI T

(iv) HE=L R awg

3 e e g § @ W SR IR
% :

Options:

(ii), (iii) 37T (iv) FE
91394348349,



(i), (ii) 37 (iv) T8t
91394348350,

(i), (ii) 37 (iii) =&t
91394345351,

(1), (iii) 3 (iv) @&t
91394348352,

Question Number : 88 Question Id : 91394312306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frerfisfiaa 3 strerpaTd A § 2
(i) foeewa

(i) I et A i

(i) =9 & JAH T

(iv) HEa g o

#r= fiw m 52 4 | T I W g
% :

Options:

(ii), (iii) 3 (iv) =&
91394345349,

(i), (ii) 3 (iv) T8t
91394345350,

(i), (ii) 37 (iii)
91394348351, =

(i), (iii) 3 (iv) @&t
913943548352,

Question Number : 89 Question Id : 91394312307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Preafefga & & #-8 TfaTd) e 7 & 2
(i) =afR=ET

() Furef =@

(i) gfera-sg

(iv) —Uehvatarg

Fr= e o g2 § @ welt I g
%He :

Options:

(i) 3 (iv
91394348353, ) )w



(ii) ¥ (iii
91394348354, ) )T

(iii) 31T (iv
91394348355, } )

(i), (ii) 3 (iii) T8t
91394345356,

Question Number : 89 Question Id : 91394312307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frerferfias § & 9 wifard e 78 § 2
(i)  =afee-=e

(i) =gref =

(i) sferera-aty

(iv) Ushyatarg

13 fiw e e & @ wd IR IR

C T

Options:

(i) 31 (i
91394345353, O M (W) W

{" aﬂT{HH
91394345354 00 ¥R (i) T

Gi)
91394345355, (W) H () T

(i), (ii) 37 (iid)
91394348356, w

Question Number : 90 Question Id : 91394312308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“gn It ged FgH T =gu o sfifa |

wifer mife grom fed < = = ffa 17

374 gie & Hay | ST wuT w2 2

() 38 FE-F0 Gag F wEvTas f gen R |
(i) 5ad S-St & S 1 wamas oo gam R
(iii) 35 srEmfa sTerHr R |

(iv) Fod fawraar sen & |

= fer o g2 F @ wft I W R

+e



Options:

(i) 3T (i
91394345357, O R ) F@

(i) 31 (i
91394345355, ) A (W) T

(i) 3
91394345359, (D) N () T

{" _ﬁ{un
91394345360, 0 ¥ (D T@

Question Number : 90 Question Id : 91394312308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“gn St ged FgH e =ge o sfifa |

wife mife grom fedt o = == ffa 17

I gt & Heg § BT Sy wd 8 7

() 38 $E-F0 Gag H T o g R |
(i) 7 S-St S 3w e fgan
(iii) $EH TG HAHE 2 |

(iv) FoH e sreem 2 |

H= fau T e & @ wdt I H gh:
He:
Options:
(i) 3T (i
91394345357, AR () F
(i) 31 (i
91394345355, O M (W) W
Gi)
91394345359, () HH () T
{-u m{'111
91334345360, 0 3 (D T@
Sub-Section Number : 3
Sub-Section 1d: 913043626
Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 91394312309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frersen $ gfee & Frfefiga e &1 adt sgwn 2
Options:

912942458201,

A1=294245202,

Q129424583203

Q1=394=245=264,

Question Number : 91 Question Id : 91394312309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frersen $ gfee & Frfefiga e 1 adt sgwn 2
Options:

Q12942458201

Q1E94=248262,

Q12942452363

Q13942482364

Question Number : 92 Question Id : 91394312310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frershn & e Frefafaa st = ot sgwa @

Options:

yereer, FarstEr, g, seawmr
91394348365,

wearard, TaTgeTEr, Seeyrard, Faretard
91394348366,

Ffarertard, wearard, wwrgeTar, aeevTEr
91394348367



yeraar, gearard, e, seawmr
91394348368,

Question Number : 92 Question Id : 91394312310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frershn & Irgam Frefefas smarat & adt sgen 2

Options:

TeTeaT, Frarsterd, gearard, seavmeEr
91394348365,

wearard, targerard, seavrar, Farsterd
91394348366,

farertard, wearerd, TageE, TeamErd
91394348367,

weraaT, gearard, FHarntard, seavwmert
91394348368

Question Number : 93 Question Id : 91394312311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frersen i gfee & Frefefas goi = adt s 2 -

Options:

wrafaera, sreaff, e, g
91394348369,

wWtes, rafaemd, weaf, sefer
91394348370,

Al TEE, Sgfars, Wrafaan,
91394348371,

yrafaera, sreafof, srefate, wees
91394348372, ’

Question Number : 93 Question Id : 91394312311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frershn i gfee & Frafafiaa goi = adt a3 2 -

Options:

Wrafaerms, Freafor, e, Sl
91394348369,



wWtes, rafaemd, weaf, sefer

91394348370,
Al TEE, Sgfars, Wrafaan,
91394348371,
yrafaera, sreafof, srefate, wees
91394348372, ’

Question Number : 94 Question Id : 91394312312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yerre-ad sigan Frefefias wed & ad s 2

Options:

UehTAE I, WYEen, Hadi, fet
91394348373,

weamen, waihiedt, fenfeh, i,
91394348374,

qyEe, hiaata, A, et
91394348375,

gaifredt, agwmen, fernfieh, whaefta
91394348376,

Question Number : 94 Question Id : 91394312312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yerre-ad e Frefafias wed & ad agen 2

Options:

whraeta, Tget, gadh, femfeh
91394348373,

weamen, waihiedt, fenfeh, i,
91394348374,

qyEe, hiaata, A, et
91394348375,

gaifired, agwmen, fernteh, et
91394348376,

Question Number : 95 Question Id : 91394312313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T-are o Aan Frefeafig w=arer & ad o3 @



Options:

e wTah, ey ey wfieity, sEvER woTg, Giteee dq
91394348377,

e wTEh, T YHTE, ety Iureard gfefty, giemga g
91394348378

Frenfig e gfelt, da arae, giierea 9a, sEve T
91394348379

Ftentiy ey wftafty, i arae, SR yaTg, gieeT 9
91394348380,

Question Number : 95 Question Id : 91394312313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T-ret & Agan Freafafas @ & oft s #

Options:

Ao wTaeh, Erenfay ey wfisity, sEvE woTg, Giteee g9
91394348377

e wTEh, T YHTE, ety Iurear sfsity, gitemga g
91394348378,

wrtenféy Iureary gfiafty, dier aras, gitmeeT 4o, SEeE ETg
91394348379,

Frtenttig Iureary wftaity, A arae, ST waTeg, gl 9
91394348350,

Question Number : 96 Question Id : 91394312314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yepre-ad igan Frefafias wed & ad s 2
Options:

AT, 3T, Toad, Bl
91394348381,

Yeetd, AR, ST, ST
91394348382,

HAT, IR, Toad, 48R
91394348383,

w1, oo, AT, fEn
91394348384,



Question Number : 96 Question Id : 91394312314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yerre-ad sigan Frefefias wed & ad s 2

Options:

IR, AT, Yoad, Wl
91394348351

Yeerd, HTEr, ST, ST
91394348382,

1, AT, Tood, HER
91394348383,

w1, Toad, AT, e
91394348384,

Question Number : 97 Question Id : 91394312315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
eRTTH-aY HFHTC ST TS ht T 1 a8 A @

Options:

g, waL, HETEET, TS
91394348385,

Y, e, Wiy, wmEmh
91334343386,

Srafieh, W7, &L, HEEH
91394348387,

e, St wmm, sy
91394348388,

Question Number : 97 Question Id : 91394312315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ST~ HET TATR FETE i T FGE AT B
Options:

Fie, TaL, HETEAT, WS
91394348385,

Yafires, we, Wiy, wmmrh
91334343356,

Srafires, W7, wat, HETEH
91394348387,



91394348388

Question Number : 98 Question Id : 91394312316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
SepTA-ad argan fefafas seamat = ad g §

Options:

HaTera, T et &, drt i gt
913943458359, ! » Tt ’

91394348390, O » et AR %, It i e, fwm

91394348391, AT A %, T, FHt F A FSTE

e, iRt it WA, T R %
91394348392, ’ ’ » Gt

Question Number : 98 Question Id : 91394312316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
- 1gEn Frafafaa se=mat & adt o @

Options:

91394348389, , TR, T ST, SRt A A

91394348390, O » Gt R, it i e, fwmr

91394348391, gt AR %, Iwan, SR A T Fre

FSCATE, Sioht ! WTHT, AT AR *
91394348392, ’ ’ » Gt

Question Number : 99 Question Id : 91394312317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yehre-ad o argan Frefafaa sart-augl 0 adt g 2
Options:

91394343393, TR A 35T HAGH, M F W, T2, Heft Tl areht wgh



91394348394, deft walt areft e, af=s, wa & ser fl, T F wew

150434530 T T % WS, WE A oA e, feft Sl weht e

91394348396, T % e, s, WaE W g At et wald At weh

Question Number : 99 Question Id : 91394312317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yerre-aY o fan Fefefan warf-gust & adt o &
Options:

91394348393, TR § IauT HCH!, A F wewt, W, fieft werdt aredt wwgh

91394348394, dreft Bl et wrgh, W, TR & JadT M, FWH F W

15043450z T T % R, AR A 33w e, Feht Bl aweht woh

o1504z4ngeg T P SR, U, AR F e s, feht vl areh weh

Question Number : 100 Question Id : 91394312318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yerreH-aY & an FRrenframa iy % feag gugt & adt s

Options:

91394348397, T % F &, weredt o @ R, Rl A awg o, v

913943458398, qHTE % TS A, R i arq 8, R, Ao 5w @

91394348399, T R, T, T b wid @, fady g s

91394348400, R <6t 2 T, T % S @, FeTed SR R, wEn

Question Number : 100 Question Id : 91394312318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

yerre-ad o rgan faanfam fay & frey dugi = ad s 2



Options:

9133454823597,

2915334248395,

912334548299,

913345458400,

Question Number : 101 Question Id : 91394312319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

AU & 3AE &, I6relt 30 @ 8, frfy it arg ond,

aaTe & wa @, firlle it gre and, R, et W

WETef o T8 B, T, auTe & wod &, i & arg e

farlre i 71e 3, THe % wOE |, Ierel W R, wEmE

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

‘FTYT AeT % IH-iH T AR A R

Options:

215942458401,

913345458402,

2915334248403,

9123345458404,

Question Number : 101 Question Id : 91394312319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Htg T, STEcAT T SEHE, T I IF, MU F I

siea Tt w3 1 3¢, ATl 1 9, ATECATHT H ALHA

73] 1 954, HIE T, AT F HAGHA, TR I

*ita Y, Ty K I, IFTECATHT 1 HAgHE, T F I

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

‘ST AeH % iR TR A R

Options:

2915342458401,

2912334548402,

91334545403,

9123345458404,

Fita L, ATETATHT 1 HGEA, Ty F I, MUl F W

®itg T, 93 w1 IgF, M w1 WG, ATEYTH F AgHA

93] 1 354, i Y, AT F HAGHE, TR 1 9

*ita Y, Ty K I, IFTECATHT 1 HAgHE, T F I



Question Number : 102 Question Id : 91394312320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
yerre-ad o argan Fefafaa srermenad & adt o3 2
Options:

T % i, TE @ WA, THILHS , T el 71 ARG FE
91394343405, & WA, ghs-ZhS TIEAH, TN 9 1 A}

F1 Y& T AT \ A, AT & e,
91394348406, ¥[e 1 4G i, JHe-ghs G, TR ]

F1 ¥[E] FT AG F, AT 6 A, A,
91394348407, | RRTH IR HE R W, THS-ZHS T

91394348408 =l THS-ZHS TEAH, T Y[ 1 4G

Question Number : 102 Question Id : 91394312320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
yerre-ad o srgan Feafafaa srermenadt & adt o3 2
Options:

3 % T, FEH R T, THSTHS , T el 71 ARG FE
91394343405, & WA, ghs-ZhS TIEAH, TN 9 1 A}

F1 Y& T AT \ A, AT & e,
91394348406, ¥[e 1 4G i, JHe-ghs G, TR ]

F1 Y& F1 A1G HE, A & A, HEH & G,
913943423407 el A 2 TH-ZHS TEH

A9, ATH & Adld, The-ghe T e A
91394348408 = THS-ZHS TEAH, T Y 01 4G

Question Number : 103 Question Id : 91394312321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frersa i gfee & mifees-fagrdt & wdt agn 2

Options:

91394348409,

@, s, {ifa, =t
91394348410,

Eﬁf ﬂﬁr m" m
913945348411,



fifa, @, =, 3w
91394348412,

Question Number : 103 Question Id : 91394312321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Freise 1 gfee & wnfeea-firgrdl 1 ad s 2

Options:

e+, ™, wfa, i
91394348409,

@, FAen, {ifa, =t
91394348410,

eafa, {ifa, @, s
91394348411,

ffa, m, =f4, s
91394348412,

Question Number : 104 Question 1d : 91394312322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
hregareArs el 1 FIHAHER TE A 2
Options:
FISHTGH, FICTHIHTET, FohI(ThaIads, Ca-aTeiieh

91394548413,

cq-qTeAleh, ashilthatiads, FTeaHIaTaT, Hreared

913345458414,

FreAT, eaATEl, HieaHmTET, dehiftweftfean,

2915942458415,

FTeHTaTHT, HIeATGH, AT, Tehi ey

913345458416,

Question Number : 104 Question Id : 91394312322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FISATEAT T 1 FIHRATIET Ta 37 &

Options:

FISHTGH, FICTHIHTET, Fohi(TraIads, a-aTeiih
91394348413



913345458414,

9153942458415,

H912345458416.

Question Number : 105 Question Id : 91394312323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
1§ % HTAR Gy R w5 ad T

Options:

. feagw, s , Be aiee, Aqae To Hiaios
91394348417, R arges, #eg arriee, &

91394348418 % Ao e arges, o, feda

e, B Tl Hialta, e o,
91394348419, A ries, 4g ares, A6 fda

s aTges, o v, frady, Agure Yo et A aes
91394348420, 7, sm.T. few, ¥ e e

Question Number : 105 Question Id : 91394312323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T4 9 % FET arvErey faanl o ad agwn 2

Options:

T, e, st , B2 atriee, dqare der Hiatta
91394348417, T arges, A% arcs, #Y

91394348418 % Ao e arges, o, feda

e, B Tl Hialta, e o,
91394348419, A ries, 4g ares, A6 fda

91394348420, 7, a.T. few, ¥ e e

Sub-Section Number: 4
Sub-Section Id: 913943627
Question Shuffling Allowed : Yes



Question Number : 106 Question Id : 91394312324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y99 | g1 YA fu T R | $9 & U FATHT (Assertion) (A) # 31 GHU T% (Reasons) (R) 8 | F2 |
few o faedt d & ot fases o1 w3+ Sifaw

HUFYT (Assertion) (A) : FIAHAN I1 AIHTH § aferfg W g @ wiF g 2 |
% (Reasons) (R) : ¥ite wfgerdt et & 1@ &t ey 1 gwmeff shan mam &

Options:

A (R) Tefd
215942458421, ) W (R)

A (R
H1334548422. ) WE (R) T

(A) Ted (R) TTefd
91334548423,

(A) Tefd (R
91334545424, : Al

Question Number : 106 Question 1d : 91394312324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

w99 # g1 %y fqu T R | $9H & U TATHT (Assertion) (A) # 31 GHU T (Reasons) (R) 8 | F2 |
faw e fasredt # @ wdt fase 1 =7 Hifow

SF2T (Assertion) (A) : FIeAFE I1 ALAGIA & anfeda W@ 3= 1 & wafq g & |
% (Reasons) (R) : Fife affadt st # @ &t swneg o gamneT &g 7 § |

Options:

A (R) Teqd
91334548421, ) T (R)

A (B
9133454584272, ) TR (R) W

(A) Tetd (R) TTefd
91334548423,

(A) Tefd (R
912334548424, . Al

Question Number : 107 Question Id : 91394312325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

3fireReT (Assertion) (A) - W@ 7 at Fifdewess 79 = fawg & 3t 7 gfawess |

% (Reasons) (R) : ®iife @ 6t weltfa & =, &, grea, oo anfe w fas 9 @ smnfia 2 2,
gafern w fifdeers w9 1 favg 78 2 |

Options:

A R
H91334548425. BT (R) T

A R) Teid
91234548426, A8 (R)

(A) Tedd (R) TTefd
913345458427,

A) Tefd (R
913345458428, &) (®) =8l

Question Number : 107 Question Id : 91394312325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

5o # gt e fu e § | $9H @ U TATHT (Assertion) (A) & ¥ GHU T (Reasons) (R) @ | F¢
fen mu fasreat 4 & w8t T w1 = Hifso

HAYHIT (Assertion) (A) : T8 7 ot Ffdwess 79 =1 fawg § 3t 7 gfasess |

% (Reasons) (R) : ¥t w &t wefifer & sy, <, grea, sewr anfe @ fas v & smwfire &9 €,
gafe @ e 77 = g 78 2

Options:

A R
91334545425, &7 (®) T8

A R) Tefd
2915394248426, BT (R)

(A) Tedd (R) Tedd
91334548427,

A) Teld (R
91334548425, &) (R) Tl

Question Number : 108 Question 1d : 91394312326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
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32 (Assertion) (A) : F1e8 3N FHeAl-Go T4 61 Fel & |

7% (Reasons) (R) : ¥1(s gaeitel safthed wfsfierat & @19 2197 G99 & i 390 oGl & 3 @
[

Options:

A R) Ted
913345458429, BT ®)

A) Tefd (R
913345458430, &) (®) =8l
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9123345458421,

A R
B91233454843%2. W ¥ ®) T
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s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
fau mu faeeat & & oft fashen 1 == fifv
HFYT (Assertion) (A) : F1e8 3 FeAl-GoH T H &l 2 |

% (Reasons) (R) : Fiifeh gaeiter safthea nfasfierdl & @19 3794 @7a & HTal 31 garal § SEar
[

Options:

A R) Teid
H91334548429. )8 (R)

A) Tefd (R
912334548420, @) ®) 78

(A) Tedd (R) TTefd
913345458421,

A R
91334545843%. &7 (®) T8
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

Mo (Assertion) (A) : Fell ¥ F19 &1 U WL 371 @eg <t I9eafel i T d1a+1 2 |

7% (Reasons) (R) : F1fsh Fwen-ama ® Wt et & fom 4 9@ avg-we sgmfyg & 8 avft 98 43
FeTl-Ta1 | Taw wrar & | safeT 81 weH wersy g § gufad g ?
Options:

A) Teld (R
91334548433, &) (R) wel

A R
913345458454, W ¥ ®) T8

(A) Tefd (R) TTefd
H91334548435.

A R) Teid
912334548436, A8 (R)
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s & gt ey 4w me & | $7 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
fem o faeredt & & @&t fases o1 wa= ifaw
AfFYT (Assertion) (A) : Fenl ¥t T4 &1 Uk T 3R g A Iyeafar 6t v g #

7% (Reasons) (R) : F1(% Fen-smma ® ft et & fom 4 5 avg-wen sgnfig & @ ovft 9 4
et | Taw grar & | afere g wee wersit ger o gnfad gt #

Options:

A) Teld (R
91334548433, &) (R) Tl

A R
913345458454, W7 (®) T8

(A) Tefd (R) Tefd
91334548435,

A R) Ted
B91334548436. &) T8 (R)
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

YT (Assertion) (A) : Tayswares agsa 6t wrfhes g1 wt gwsH i wh wwes T 2

% (Reasons) (R) : T 98 U 1&g *41, foean sgan it Fen 2 |
Options:

A R
91394348437, A& ®) &

A) Teld (R
913345458435, &) (R) Tl

(A) Tefd (R) TTefd
H91334548439.

A R) Teid
91234548440, A8 (R)
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s & gt ey 4w me & | $7 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
fem o faeredt & & @&t fases o1 wa= ifaw

YT (Assertion) (A) : Tausares ageq 6t wrafhs g &t gwsH it wh wwes T 2

7% (Reasons) (R) : 91 98 U 3167 +41, e srgan it s 2 |
Options:

A R
91334548437, W ¥ ®) T8

A) Tefd (R
91334548435, &) (®) 78

(A) Tefd (R) Tefd
912334548429,

A R) Ted
2912334548440, &) T8 (R)
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v # gt iy fqu me & | 39 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
feu mu fasheat 4 & w8t fases w1 w37 Fifso .

AFYT (Assertion) (A) : TAH WAl & 3¢9 B4 & TEEET 1 T1fica o0 21 2 |
% (Reasons) (R) : #4i1% favra, smyra aur gandt wra st wrel & wgrs s adsh da 2

Options:



A) Tefd (R
913945458441, @) ®) 78l

A R
912334548442, BT (R) T8

(A) Tedd (R) TTefd
91334545443,

A R) Ted
91334545444, BT ®)
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5o # gt e fu e § | $9H @ U TATHT (Assertion) (A) & ¥ GHU T (Reasons) (R) @ | F¢
fen mu fasreat 4 & w8t T w1 = Hifso

fFIT (Assertion) (A) : TaH! WEl & I B4 & e #t TA1fica IH g1 2 |
% (Reasons) (R) : #4i(® favra, sgwra g gardt wa worft wrEt & gere s agh a6 2 |

Options:

A) Teld (R
912345458441, &) (R) wel

A R
9133454584472, W ¥ ®) T

(A) Tefd (R) TTedd
215942458445,

A R) Teid
H91394548444. )8 (R)
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s & gt ey 4w me & | $7 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
fem o faeredt & & @&t fases o1 wa= ifaw

2T (Assertion) (A) : wraTarg {ifaswreg i wifh 1g wroa 39 1 4 § |
7% (Reasons) (R) : ¥41(% srarardt wfam # safwieg amwn 6 sfieafr gi 2

Options:

A) Tefd (R
91334545445, &) (®) 78

(A) Tedd (R) Tefd
913345458446,



A R
H91394548447. BT (R) T

A R) Teid
912334548445, A8 (R)
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v # gt ey e Ty # | $7 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) & | g2 &
few o faereat & & @t fashew o1 waw ifaw
HFT (Assertion) (A) : wraTarg {ifaswrea i wif 1g wia 39 1 Fe4 § |

% (Reasons) (R) : ¥\fe sramard wfam # safwfse aren 6 sfiesafw gi 2 |
Options:

A) TEd (R
91394348445 D0 A

(A) Tedd (R) Tedd
2912345458446,

A R
9123345458447, W ¥ ®) T

A R) Teid
913345458445, BT ®)

Question Number : 113 Question 1d : 91394312331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

v # gt e e me & | $9 @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
fen mu fameat 4 & wft ey =1 w37 Fifso .

HFYT (Assertion) (A) - Tarafaur st Ferersar weg 3 weepl IugE € | 378 o 4 digd
I 3fg gt 2, fobmg 3 wrem T €

7% (Reasons) (R) : ¥ e it ot &1 g e frdt off sftem @ | it forari o1 et =6t am
feraramsft =1 %1 2 1

Options:

(A) &t (R) Tat

21594245449,

A R) Teid
H91334548450, )8 (R)

(A) Tedd (R) Tefd
913345458451,



A) Tefd (R
H91394548452. @) ®) 78l
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e g %y fEu Y § | 379 B U T (Assertion) (A) B 31 gHU 9% (Reasons) (R) | F |
fem o faeredt & & @&t fases o1 wa= ifaw

32 (Assertion) (A) : Tarafaur st Fearersa Feg o geegl IugE § | 978 Sfaa 4 did
fafeddt d, g dma i €
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A R
91394245449, &) 7 (B) T

A R) Ted
91334545450, BT ®)

(A) Tedd (R) Tefd
91334548451,

A) Tedd (R
B912334548452. &) ®) 78
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v # gt iy fqu me & | 39 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
feu mu fasheat 4 & w8t fases w1 w37 Fifso .

HFT (Assertion) (A) : S 1 FgF1 forn o0 whet 8, 38 & 38 77 Ay 9 A
gehdl & |

% (Reasons) (R) : Fife a1 +1 g9 i 90 & 211 & 9eraa & 781 |
Options:
91394348453, @ & (R) T

A R) Ted
91334548454, &) T8 (R)

A) Tedd (R
9123345458455, &) ®) 78

(A) Tefd (R) TTed
2915334248456,
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we # gt o fu e B | 39 @ U TATHI (Assertion) (A) 8 #H1 GHU T (Reasons) (R) 2 | F¢ |
few o faseat & & @@t fasey 1 w39 Hifon

HUFYT (Assertion) (A) : ST 1 FgF01 forn o1 whet 8, 38 & 38 77 Ay 390 A
adt B |

7% (Reasons) (R) : ¥ifer a1 =1 gva-9 i1 9 9 81 & "-raa d T8 |
Options:

(A (R
91394348453, )T (R) T

(A (R) TTeqd
9123345458454, ) W8 (R)

(A) Tefd (R
9123345458455, . Al

(A) Teqd (R) Ted
2915334248456,
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wo9 H g1 U fqu T § | $9 @ U TATHT (Assertion) (A) # 31 GHU T% (Reasons) (R) 8 | F2 |
feu mu faeedt # & oft faswen 1 == fifvr
e (Assertion) (A) : 9090 ®fg are 74, snyqfsar i qaa 2 |

7% (Reasons) (R) : ¥ qwoqt # #1eta & wfer swmafen it ufads = fig gan @
Options:
9139434ga57, T (B T

(A) Tefd (R) TTedd
91334545455,

A (8
91334545459, ) TR (R) WY

(A) Teid (R
2915334248460, . Al
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

e (Assertion) (A) : 9090 ®fg grer 7df, snyqfsar i qaa 2 |
% (Reasons) (R) : ¥t o # a1dta & wfa smafs it uftads & fow g 2

Options:

A R) Ted
91334548457, &) T8 (R)

(A) Tedd (R) TTedd
91334545458,

A R
2915334248459, A7 ®) 7@

A) Tefd (R
2915334248460, &) ®) 78l
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5o # gt o U e § | 399 @ U TATHT (Assertion) (A) ® ¥ gHU % (Reasons) (R) & | F¢ |
fom e fasredt & @ w@t faspew 1 == Hifo

ST (Assertion) (A) : JINHETE W1 ¥ v wraars gfgAifaat & fo mnfas & |
7% (Reasons) (R) : T 3% IO 30 A1 § wra-qedi 4 e s 2 |

Options:

A R) Ted
913345458461, W ®)

A) Tefd (R
91334548462, &) (®) 78

(A) Tefd (R) Tefd
912334548463,

A R
913345458464, BT (R) T8

Question Number : 116 Question Id : 91394312334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

v # gt iy fqu me & | 39 @ U T (Assertion) (A) 8 3R gHU % (Reasons) (R) # | g2 &
feu mu fasheat 4 & w8t fases w1 w37 Fifso .

HFAT (Assertion) (A) : ITIHETE WA B 6Ty wraarsr gigaitfat  fon wmfas 2 |
% (Reasons) (R) : ¥if% 37 FJHN 39 a¥aa1 & "a-qeai 4 firree o 7 |

Options:



A R) Teid
H1334548461. )8 (R)

A) Tefd (R
H91334548462. @) ®) 78

(A) Tedd (R) TTefd
91334545463,

A R
91334545464, &7 (®) T8
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5o # gt e fu e § | $9H @ U TATHT (Assertion) (A) & ¥ GHU T (Reasons) (R) @ | F¢
fen mu fasreat 4 & w8t T w1 = Hifso

3firee (Assertion) (A) : Hi=gaeieh UHl Tt AT Had 7 |
% (Reasons) (R) : Wi ST Fedq1 § i gra-9 981 grar |

Options:
A R) Tefd
91394248465, &) 7 (R)

A R
H13345484EE. BT (R) T

(A) Tedd (R) Tefd
91334548467,

A) Tefd (R
91334545465, &) (®) 78
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5o # gt e fu e § | $9H @ U TATHT (Assertion) (A) & ¥ GHU T (Reasons) (R) @ | F¢
fw mu fasedt # & wdt fashen 1 == Hifor

3firehe (Assertion) (A) - Gi=gdeieh Udl Tt eI Had 7 |
% (Reasons) (R) : Sife ST edq1 § i gra-9 981 grar |

Options:
A R) Tefd
91394248465, &) 7 (R)

A R
H13345484EE. BT (R) T



(A) Tedd (R) TTefd
91334548467,

A) Tefd (R
91334548465, &) (®) 78
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5o # gt o U e § | 3 @ U TATH (Assertion) (A) B 31 GHU T (Reasons) (R) @ | §¢ ¥
faw e fasredt & @ wdt e =1 =7 Hifo

AfUFUT (Assertion) (A) : FATRIS T qHHIeTdrd 8l ardl |
% (Reasons) (R) : ¥\fe Fenifies F1¢3-ta1 U frsfter wrs 8 |

Options:
A R) e
291394245469, ®) T8 ®)

A) Tedd (R
291234548470, &) ®) 78

(A) Tefd (R) TTed
2915394248471,

A R
2915394248472, A7 ®) 7@
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5o # gt o U e § | 399 @ U TATHT (Assertion) (A) ® ¥ gHU % (Reasons) (R) & | F¢ |
fom e fasredt & @ w@t faspew 1 == Hifo

37fireReT (Assertion) (A) : ¥R FTeh SHHIETdTd Tal gt |
7% (Reasons) (R) : F1fsh Fellitieh A1¢4-To1 Tah Tasfie 918 & |

Options:
A R) Tetd
91394245469, @A) 7 (B)

A) Tefd (R
91334548470, &) (®) 78

(A) Tefd (R) Tefd
912334548471,

A R
91334548472, BT (R) T8
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v # gt ey fqu Ty § | $9 @ Uk AT (Assertion) (A) R 3R gEU % (Reasons) (R) & | §2 &

few o fasheat & @ ot faea &1 == Fifr

HF2T (Assertion) (A) : SHIFL YHIG 1 Fgi[W AT Tad-aa1 3 Torda 1 G 2 |
7% (Reasons) (R) : $afeTe 37 W a9 & gammaq 3i sfoema & 73 44 I@med 1 adt s @ |

Options:

A) Tefd (R
913345458473, &) (®) 78

A R
913345458474, &7 (®) T8

A R) Tefd
2915334248475, BT (R)

(A) Tedd (R) Tedd
2912334548476,
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s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
few o faseat & & @@t fasey 1 w39 Hifon

HF2T (Assertion) (A) : SHIFL YHIG 1 Fgi[W AT Tad-aa1 3 Torda 1 G 2 |
7% (Reasons) (R) : $afeTe 37 W a9 & gammaq 3i sfoema & 73 44 I@med 1 adt s @ |

Options:

A) Tefd (R
913345458473, &) (®) 78

A R
913345458474, &7 (®) T8

A R) Tefd
2915334248475, BT (R)

(A) Tedd (R) Tedd
2912334548476,
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

e (Assertion) (A) : Rfereftaro 1 wreta gefa % smema g |
7% (Reasons) (R) : $ife 33 % whreai # angfres gfeearg 7@ fireman |

Options:

A R) Ted
91334548477, BT ®)

A) Tefd (R
913345458475, &) (®) 78

A R
913345458473, &7 (®) T8

(A) Tedd (R) Tedd
291234548480,
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s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
few o faereat & & @t fashew o1 =aw Sifa
HFYT (Assertion) (A) : Afrefraro 1w wiedta gesfa % smeam § |

% (Reasons) (R) : gtfer 37 % wreai # snyfaes gfeeara =8 fieran |

Options:

A R) Tefd
2915334248477, BT (R)

A) Tefd (R
21594248475, &) ®) 78l

A R
H91334548479. BT (R) T

(A) Tedd (R) Tefd
91334548480,
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

HHYT (Assertion) (A) : W9, Fean 3 wifow 719 + faeg yoaw o 3w smwa =t wee o oy
fre st 1 W@ Ser AT 1 HHAT B

% (Reasons) (R) : $9 JNaaTd! gfeshior &1 wTd *req i t=1-gferan offt wmeargs i yormeft oz +ft
gEar g |

Options:
A) Terd (R
91394343451, () ®) Tt

(A) Tedd (R) Tefd
B12334548482.

A R) Teid
B912334548453. &) T8 (R)

A R
91234548454, W ¥ ®) T
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s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
feu mu faheat 4 & w8t fawes w1 w37 Fifso .

HYFAT (Assertion) (A) : ¥, Feaq 3 wfaw 79 & favg yore 3t 3 Iwa il 7ae o1 A1yg
Fre st =1 W@ Se | 1w #
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TS 8 |

Options:

91394348481, (A T () 81

(A) Tedd (R) Tefd
91334548452,

A R) Ted
913345458453, BT ®)

A R
91334545454, &7 (®) T8
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e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

32T (Assertion) (A) : 9 Teg it 31 30qe fa=rdl & aTee 8, 30N § 3 LG % 5% o |
7% (Reasons) (R) : 3Htfer amgra-faum s it qa wafa 78 2 |

Options:

A R) Ted
91334545455, BT ®)

A) Tefd (R
2915342484856, &) ®) 78l

A R
21594248457, AT R) 7@

(A) Tedd (R) Tedd
913345484558,
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e & gt e fqw o # | 7 | U T (Assertion) (A) # 3 GHU 7% (Reasons) (R) # | g2
fau mu fasmedt d & wdt fases &1 == Fifs
SFT (Assertion) (A) : 9 Teg Wt T 3q7l faard & o 7, 09 § 7 TEGAT F o+ 4 |
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Options:

A R) Ted
91334548485, &) T8 (R)

A) Tedd (R
B912334548456. &) ®) 78

A R
91334548457, W ¥ ®) T

(A) Tefd (R) TTedd
215942484855,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

Mo (Assertion) rm:mﬁarcﬁmﬁﬁﬁm;wﬁ#ﬁaﬁmﬁmm%ﬁﬁﬁ
7% % gl Sftae it i3 Tl sdwern foar 9 |

% (Reasons) (R) : $fife sad gufifea mra-vsfa & wm w sl 1 971 oif wadig =y fafa
FR

Options:

A) Tefd (R
2915394248489, &) ®) 78l

(A) Tedd (R) Tedd
2912334548430,

A R) Ted
9133454584591, W ®)

A R
91334548452, W7 (®) T8

Question Number : 123 Question 1d : 91394312341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5o # gt o U e § | 3 @ U TATH (Assertion) (A) B 31 GHU T (Reasons) (R) @ | §¢ ¥
fau o fasedt 5 @ ot fasey 1 = Hifem

3firereT (Assertion) (A) - Wifeardt wfagl 3 safbsizm. wfa & 38 w91 &1 famo e 2 Tt 32
T4+ % gt sftem i g el srfeen foar 9 |

% (Reasons) (R) : gife sad gufifes mra-vsfa & wm w sl 1 971 off wadie =y fafia
FR

Options:

A) Teld (R
91334548459, &) (R) wel

(A) Tefd (R) TTedd
2159424584590,

A R) Teid
913945484591, )8 (R)

A R
9123345484392, BT (R) T8

Question Number : 124 Question Id : 91394312342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

32 (Assertion) (A) : Fel-t B Hg a8t @1 Fdl 2 |

7% (Reasons) (R) : Wi @Y ATHN o FR0 Far qeqof sltaaty 3t qrnfs a0 #t wHifi 768
L HHAT |

Options:

A R
913345454393, A7 (R) T

(A) Tedd (R) Tefd
9123345484594,

A) Tedd (R
9123454584395, &) ®) 78

A R) Teid
9123345484396, BT ®)

Question Number : 124 Question Id : 91394312342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
few o faseat & & @@t fasey 1 w39 Hifon
HUFYT (Assertion) (A) : FaH! B Hg 9t a1d Gl 2 |

% (Reasons) (R) : Wife &9 SRR % H0 gl Gogul sita-ary 37 aramfares wed i S T80
L Hehll |

Options:

A R
H913945484593. BT (R) T

(A) Tedd (R) Tefd
913345458454,

A) Tefd (R
91334545435, &) (®) 78

A R) Ted
91334545436, BT ®)

Question Number : 125 Question Id : 91394312343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 3 gt e fqw 0§ | 5 ® U T (Assertion) (A) # 3 gHU % (Reasons) (R) & | g2
few o faedt d & ot fases o1 w3+ Sifaw

32 (Assertion) (A) : Artare fagerers gora @ god & famsi 2
7% (Reasons) (R) : $fifer et =1 wvqel wteram o fore gt % sferes =t Tt 2

Options:
A) Teid (R
91394245497, A ®) wet

(A) Tefd (R) Tefd
912345484395,

A R) Ted
913345484393, &) T8 (R)

A R
2912334548500, BT (R) T

Question Number : 125 Question Id : 91394312343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s # gty e me & | $ @ U T (Assertion) (A) 8 3R GHU % (Reasons) (R) # | g2 #
few o faereat & & @t fashew o1 =aw Sifa
HFT (Assertion) (A) : THaTg faqamres qurs & dod 1 famf 2 |

% (Reasons) (R) : gitfe fa=st &1 wvpel wfteram s fore gout & siferes =t wohme 2
Options:

A) Tefd (R
2915394248457, &) ®) 78l

(A) Tedd (R) Tedd
9133454584595,

A R) Ted
913345458455, W ®)

A R
91334548500, W7 (®) T8

Sub-Section Number: 5
Sub-Section Id: 913943628
Question Shuffling Allowed : Yes

Question Number : 126 Question 1d : 91394312344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



m@Mﬁmmﬁ%mwmnﬁmm@mmm@wﬁ
et 1 et I
(a) fEs1 GeTet oo SFETg (i) @AY
(b) t @ araft st s (i) =g =wErE
(c) WME afE & F ST (iii) &
(d) =fsm g fram = e =8 fw (iv) Tl
(v) Wi

w2
Options:

(a)—iii), (b)), (e)—{(v), (d)—{ii)
913945348501,

(a)—(iv), (b)=(v), (e)-(iii), (d)—(i)
91594248502,

(a)ii), (b)—(iv), (e)—(i), (d)—v)
913943458503,

(a)—{iv), (b)—(ii), (e}=(v), (d)—(iii)
91394348504,

Question Number : 126 Question Id : 91394312344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Preferiaa ifirat ) % Tafinait 3 we gfer AP | A3 R T g2 w1 S W g R I
# 9fe -

g1 -
(a) &3 Ga o9 SaEE P
(b) it T qraft 1wt 94 (i) =g =ErR
(c) &g W o o ST (iii) FET
(d) wfem =R fram = <em =@ @ (i) Tfaares
(v) wfh
+e
Options:
9139434550y, 2D, ()=, ()(v), (d)-(ii)
1594sams0s @) (B, (i, (D

(a)-ii), (b)—(iv), (e)—(i), (d)—v)
91394348503,



(a)—{iv), (b)—(ii), (e}=(v), (d)—(iii)
91394348504,

Question Number : 127 Question Id : 91394312345 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefafiga sea-dftat %t 37 wEfrare % wo gafeaa fifie | = fog 7 ge = wm s e ad
I i g
T I Lalpt
(a) ST Hg w141 TE (i) wfersh geawrg s
8l F9-HET |
(b) 3t 7= sy wfea s/m Fear (i) qEE
9% T8 T8 Sd g =@ial 1
(o) g Euorffa afg sme ) (i) +fk
(d) Forfenfiom frafored | (iv) TR

fonf =amsh s SgEaEy |
(v) qeHteE
+e
Options:
5139434g50s, 2D (B)-(iD, (e)~(iid), (d)—iv)

(a)—(ii), (b)—(iii), (e)~(iv), (d)—~(v)
91394348506,

(a)iv), (bi~(v), (e)(ii), (d)~(i)
91394348507,

(a)—{iii), (b)), (e)—{ii), (d)—v)
913394348508,

Question Number : 127 Question Id ;: 91394312345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Prafafan wea-dftt #t 375 R % wy gifaa Fifie | = e g w1 w@ w0 g ad
I i g
T 1 Tt 11
(a) W1 Hg wrem 44 (i) =l qawrg st
el F9-FET |
(b) 3t w7 fy *fem o Fe () WeE
o I8 1@ d e =ea 1
(c) B B ooritfy afg e | (i) o=
(d) Tmrftenfrem Frafored | (iv) TR
fory = sy SgEaEy |
(v) geHreE

®e:
Options:

(a)(i), (b)—(ii), (e)—{(iii), (d)—iv)
912342458505,

(a)—ii), (b)—(iii), (e)—(iv), (d)—(w)
91394348508,

(a)—liv), (b)—(v), (e)—(ii), (d)—(i)
91394348507,

(a)—{iii), (b1, (e)—{id), (d)—v)
91394348508,

Question Number : 128 Question 1d : 91394312346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frfefiaa Frea-Ffrai Ht 37 @I % arg gafaa fife | = e ge w1 w6 g ad
ﬁﬁﬁﬁ@:

g1 Tt I
(a) ST Tehra (i) el
(b) FFTEdor (i) =
(c) FTe™ HfA (iii) argpa @b
(d) Ta-Es (iv) @fafa
(v) oI
the :
Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394343509

(a)—iv), (b)—(i), (e)=(ii), (d)~(iv)
91394348510.



(a)—(ii), (h){(iii), (e)—(iv), (d)(v)
91394348511,

(a)iii), (b)—(iv), (e)—{v), (d)—(ii)
913945348512

Question Number : 128 Question 1d : 91394312346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Prefafiaa swea-Ffrai #t 33% e % @g gifeaa fifg | = e e e =1 wim e g ad
ﬁﬁ"gﬁ'ﬁ:

g1 A I
(a) FeThI Fehra (i) el
(b) FFTEdor (i) @mem
(c) HTE™ Hfe (iii) =T @l
(d) Ta=g=T (iv) wffa
(v) ¥E7
e :
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
913943458509,

(a)—v), (b)—(i), (e)—(ii), (d)~(iv)
91394348510.

(a)—(ii), (h)iii), (e)—{iv), (d)-v)
912942458511,

(a)—(iii), (b)—(iv), (e)(v), (d)—(ii)
91394348512,

Question Number : 129 Question Id : 91394312347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafafiaa sifeat =t 37 &9 % arg gofea Hifsw | = f5e 7 e -1 @ =@ g ad s =t
g
Lxll Tt 11
(a) ofgedt werdt () TETE
(b) Tegadf 8T8t (ii) T

(c) wragdt (iii) Farem
(d) wEt (iv) TITHYL

(v) faremage
&

Options:



(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
912342458513,

(a)iv), (b)—(iii), (e)(ii), (d)—(v)
91334548514,

(a)—(iii), (b)—(iv), (e)—w), (d)—(i)
912334548515,

(a)—(1), (b)—(iii), (e)—(ii), (d)~(iv)
913342458516,

Question Number : 129 Question Id : 91394312347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Prerfefiaa sifet =t v &7 % wrg gofea Hifse | = e e e = v F@ e ad s
gfi :

et et I
(a) WfFdft wart () TEEE
(b) AeFae] 9BIST (i) AT
(¢) Wraigdt (i) e
(d) TTEt (iv) TITSYL

(v) feemage

®e:
Options:

(a)—(iii), (b)—(i), (e)-liv), (d)—(ii)
912394245513,

(a)iv), (b)—(iii), (e)ii), (d)—(v)
91394548514,

(a)—(iii), (b)—(iv), (e)—=(v), (d)—(1)
913342458515,

(a)—(1), (b)(iii), (e)-{ii), (d)~iv)
91234245516,

Question Number : 130 Question Id : 91394312348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frferfiga temnart it 7o T % wg gifaa $if | e e e g = wEm w5 g wd I
#t gfe
gt gt
(a) 3= (i) wardft ghge
(b) <t 3= =@ (i) e
(c) T8 wall (iii) FIEEE

(d) Kfereprer (iv) THEH
(v) FEerE
&
Options:

(a)—(ii), (b)iii), (e)~(v), (d)-(i)
91394348517,

(a)—{1), (b)—(iv), (e)—{ii), (d)—{iii)
91394348518,

(a)—v), (b)—(i), (e)(iii), (d)—iv)
913943458519,

(a)—(iii), (b)(ii), (e)(i), (d)—v)
91394348520.

Question Number : 130 Question Id : 91394312348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa et =t 37 A % e gafaa $ife | e e e ge = owm w5 g wd I
# gfu
T I LaLpt
(a) 3TeA (i) wardt g
(b) Feflg T3 =fw () AR
(e) @ wardt (iii) HITEETH

(d) hfershrer (iv) THEH
(v) FEeE
+e
Options:

(a)—(ii), (b)—(iii), (e)-{v), (d)—(i)
91394348517,

(a)—(i), (b)—(iv), (e)—(ii), (d)—{(iii)
91394348518,

(a)=v), (b)—(i), (e)-iid), (d)—liv)
91394348519.



(a)—(iii), (b)(ii), (e)(i), (d)—v)
91394348520.

Question Number : 131 Question Id : 91394312349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frferfiaa et =6t 373 7w T % wry gefera Hifae | = e 7o e 1w #a ge ad I3
%t gf

I I
(a) T& AH (i) TEHEETg
(b) 14 gATe (ii) gram
(c) weers (iii) =TT
(d) g51gE (iv) derast
(v) A
E T
Options:
(a)—(iv), (b)—(ii), (e)—(iii), (d)—(i)
91394348521,
(a)—(v), (b)—(iii), (e)—(i), (d)~(iv)
91394348522,
(a)—(1), (b)—(iid), (e)—(ii), (d)~(iv)
91394345523
(a)iv), (b)—(1), (e)iid), (d)—(ii)
91394348524,

Question Number : 131 Question Id : 91394312349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frfafiga et it 37 570 v & ary gafoa $ifae | f9 fo e 5e 0w g adt @
g

gt I
(a) T& A (i) EHgEg
(b) g 24T (ii) gt
() wdgrE (iii) e
(d) Hrelgmd (iv) deradt
(v) HHAHL
®e:
Options:

(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394348521,



(a)—v), (b)—(iii), (e)—(i), (d)—{iv)
91534248522,

(a)—(1), (b)(iii), (e)-{ii), (d)~iv)
9123942458523,

(a)iv), (b)—(i), (e)(iii), (d)—(ii)
912334548524,

Question Number : 132 Question Id : 91394312350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafiga Tt =t 375 el & ary gafaa Fifse | A= fog T $e 1 g ad I
gfu

et et 11
(@) HTHT 3501 (i) =l
(b) TR TR (i) TEHTHR
(c) faoopag i (i) swe fire
(d) w faamm (iv) Famamafon

(v) wEfafy

&2
Options:

(a)(ii), (bi—(iv), (e)=(v), (d)—(1)
912342458525,

(a)—{iv), (b)—(id), (e)-(iil), (d)—(v)
91334548526,

(a)—(iii), (b)—(i), (e)(v), (d)—iv)
H1334548527.

(a)—(1), (b)—(v), (e)-(ii), (d)—(iii)
91334248528,

Question Number : 132 Question Id : 91394312350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prferfiga Tt 6t 37 = = w1y gefera Hifse | A= fqw T e w1 W wd ge A Im R
gfu

et 1 et I
(a) W1 501 (i) =l
(b) e TR (ii) YgHTHR
(o) fammg fd (i) wHa-a g
(d) @ faamm (iv) Famamafon

(v) wEffa

w2
Options:

(a)-ii), (b)—(iv), (e)—(v), (d)—(i)
91394348525,

(a)—(iv), (b)—(ii), (e)-(iii), (d)—(v)
91594248526,

(a)—(iii), (b)~(1), (e)(v), (d)—liv)
91394348527,

(a)—(i), (b)—(v), (e)(ii), (d)—(iii)
91394348528,

Question Number : 133 Question 1d : 91394312351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa wfaat =t 33ht waftr & amum w gafera Aifo | = faw Mo e =1 i i ge ad I
# gfu

I gl
(a) T BfE™ (i) Frforrares
(b) HeharH (i) Frlteamardt
(e) HUgdT (iii) TETITHS
(d) Fee (iv) WiraTt
(v) THTaETE!
+e
Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
91394348529,

(a){iii), (b)~(i), (e)—(id), (d)—{v)
91394348530.

(a)—(ii), (b)iii), (e)(iv), (d)—(i)
91394348531,



(a)—{iv), (b)~(v), (e}-(ii), (d)—(iii)
913943485352

Question Number : 133 Question Id : 91394312351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frferfiaa =faat =t 39ht waftr & amam w gafera Hifo | = e mo e 1 i w0 ge ad I
%t gf

T Tt I
(a) T BfE™ (i) Frforrares
(b) WelHaE (ii) Frltvatardt
(c) HUEdT (iii) FETITHS
(d) Fee (iv) Wirart
(v) THTaTETE!
E T
Options:

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594248529,

(a)iii), (b)~(i), (e)(id), (d)v)
91394348530.

(a)—(ii), (b)—(iii), (e)(iv), (d)—(i)
91394348531,

(a)—{iv), (b)—(v), (e)-(ii), (d)—(iiD)
913945485352

Question Number : 134 Question Id : 91394312352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frfafiga sfaamer it 37 @it % wo gafea fife | = fa T $e 1w w0 ge ad I3
i gfe
T 1 Tt 11
(a) et it =i T BE (i) GevateaTd TFa
(b) 31t 76} foespet s ot (i) amM

() 1 wrar (iii) hEFATY AT
(d) Forrt Tt (iv) oyt
(v) = ymi
T4
Options:

(a)—(ii), (b)—(i), (e)-(iii), (d)—(v)
91394348533,



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394348534,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912342458535,

(a)—(iii), (b)—(i), (e)L(ii), (d)—(w)
912334548536,

Question Number : 134 Question Id : 91394312352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

mmﬁﬁmﬁmﬁ%mwmlﬁmemmﬁ@Hﬁm
A1 et I
(a) &t 6t afd T B (i) TETEteHTE TEUAT
(b) o7 & foregpe 3q| ot (i) enm@
(c) 21 & (iii) SHERATY AT
(d) FF 78T (iv) T et
(w) 7ﬁﬁ'-'!‘l‘lil'f

e :
Options:

(a)—(ii), (b)—(i), (e)-(iii), (d)-(v)
912342458533,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394348534,

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
91334548535,

(a)—iii), (b)), (e)—(ii), (d)—(v)
913342458536,

Question Number : 135 Question Id : 91394312353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Freafafiaa sy vaeg weat % geg et &t 36 arfthes fatmaret @ gafaa $if | H= e
¢ 1 T FA L FE I A IR

Tl 1 ESLb
(a) §eg % 999 & S 9TA (i)l w197
(b) SHHTEATEH % 59 8 1 TH (i) gopg ) v 76 1 T
(c) TG o 999 | S[gal I (i) “zeheft’ 1 gt
(d) ot geleranadl B WO T (iv) “aprarefy Sfaea
V) gy 99 1w

% :
Options:
(a)—(v), (b)—(iv), (e)—(iii), (d)—(ii)
21394248537,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394348538,

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234245529,

(a)—{iv), (b)—(v), (e)(ii), (d)~1)
91394345540

Question Number : 135 Question Id : 91394312353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiga smafre varg sreal & gew il &t 33 =ifitfre fasmarett & gafaa fifse | 9= fagm
F¢ 1 T A L HE I B G

g1 T
(a) g4 % ¥ § FHa1 I (i) ‘e 1w

(b) SHTHTEATH 999 8 1 T (i) “gypg 6 v T F1 T
(¢) g % ¥ 4 51 A (i) “zefeft’ 1 e

(d) Foeft geleraradl B HOd T (iv) ‘sl Tfea

V) “Sagy a9’ wi vl
C T
Options:
(a)—(v), (b)—{iv), (e)-{iii), (d)—(ii)
91394348537,

(a)—iv), (b)(iii), (e)(ii), (d)—(i)
91394348538.



(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394348539.

(a)iv), (bi~(v), (e)(ii), (d)~(i)
913394348540.

Question Number : 136 Question 1d : 91394312354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

?%Tmmﬁaﬁmﬁmaﬁ%m@ﬁmﬂhlﬁﬁqmﬁmmm@wm
I T
(a) Tl fie et () o=
(b) THEFAT F1t (ii) uferh
() T Fardt (iii) S T R |
(d) ey e (iv) Tt
(v) =rd st

%
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394345541,

(a)—(ii), (h){(iii), (e)—(v), (d)(iv)
91394345542,

(a)—{iii), (b1, (e)—{iD), (d)—v)
91394348543,

(a)—(iv), (b)), (e)(ii), (d){iii)
91394345544,

Question Number : 136 Question Id : 91394312354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frfafiga R 6t 37t et & @y gifea $ifie | 9 e e 5 = i Fa ge wd 9w
&t gfu
gt et I
(a) Tl fheg At ) wwesa
(b) THFHR Tt (ii) wferen
(c) Tt Fardt (iii) 7 TR T R |

(d) =heramy fig (iv) fegt
(v) dTd |ttt

%He :

Options:



(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
913943458541,

(a)—(ii), (h)iii), (e)—{(v), (d)(iv)
9123942458542,

(a)(iii), (b)—(1), (e)(ii), (d)v)
91394345543,

(a)—=(iv), (b)), (e)—(ii), (d)—(iii)
91394345544,

Question Number : 137 Question Id : 91394312355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr= g YA % 39 FUAl i Grag Kl § gafera i | A= fqg o e w1 o e ad
I g

gt I
(a) sy B’ 0 o qom w0 % ot ety (0 WETGet i
ST e TEqd w9t {1 st wt oft st
TTE WIS % T H <@ # |
(b) 38 ST i S TR 5ed i G el (i) TorAT
T Tt § St SR E

(c) i A wea-gfee wfa & omem — S % (i) GiEMEA 90
w41 3R =TIl ® =4 B arelt sATeAn — i
T HATA B |

(d) SR TEEETG) THTS i SEH AR 1 T8 Fe  (iv) T TETG
o gt g =t % wrm-wem % foe weraT
1 wgr firet |

(v) HEwra Bardt Foen
A

Options:

(a)—(v), (b)ii), (e)—(iv), (d)(iii)
913945458545,

(a)(ii), (b)—(1), (e)-Liid), (d)-iv)
915942458546,

(a)—v), (b)—(i), (e)(iii), (d)—iv)
91394345547,

(a)—(i), (b)—(iii), (e)—(ii), (d)—iv)
913943458548,

Question Number : 137 Question Id : 91394312355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Hr= THEE YA % 3 FUAl i grag Kl 8 gafera i | = fqw o e w1 i e ad
I it g

gt g I
(@) ‘s fir’ 1 3R gm0 4 F i gay (D e w6l
ST I TEqd w91 3 sl wi ot st
Tl W T H @
(b) 38 51 H o TR wed b Ut oAl (i) TwgAR Il
T Tt § St e §

(c) hfa 6t wwea-gfee wfe it srem — s % (i) GiE™E T
w41 3fi ST | s B aret et —
FHr et 8 1

(d) T TEEaTdl TEma w Y@ AT W TR Fa (iv) I TETE
o geht wy Tt &% wE-wER % fou weET
I wigr fore |

(v) TEwra Bardt Foen
e

Options:

(a)—(v), (b)—{ii), (e)—(iv), (d)(iii)
91394345545,

(a)—(ii), (b)—(1), (e)-iid), (d)—iv)
91234245546,

(a)—v), (b)—(i), (e)(iii), (d)iv)
91394345547,

(a)—(i), (b)—(iii), (e)—(ii), (d)—(iv)
913943458548,

Question Number : 138 Question Id : 91394312356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Praferfiga av=amal it 9% avd fawa % wo gifer Fifsrg | A= e 1o g2 =1 win @ guad I
%t g
et et I
(a) AT=d! WEd M (1) FETErETg T
(b) LS 1 Hidal 91 (i) HITETAF 391G
(c) W 9g =nfew. (iii) gfera sffem
(d) Teft st gt B (iv) T it i gER
(v) amredt st e afer

He
Options:

(a)—iii), (b)), (e)—{iv), (d)~(v)
91394345549



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
912342458550,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234245551,

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
91334548552,

Question Number : 138 Question Id : 91394312356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ﬂmgﬁq IYATET i I avd fawa % @y ghfaa $ifa | = e e e 1 wi S g ad I m
g1 g I
(a) AT=d! @gd TN (1) SETErEIg 1 qiay
(b) T 1 GIaai Grel (i) HisgTeh 34
(c) 3t =g =nfew (i) gfera sfrem
(d) et At gEdt B (iv) T i e wan
(v) amordt w1 Hfdes e

H:
Options:

(a)(iii), (b)—(1), (e)—{iv), (d)—(v)
91234245549,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
912342458550,

(a)—i), (b)—(ii), (e)-(iii), (d)—(iv)
91394548551,

(a)—(iv), (b)—(iii), (e)—(il), (d)—(1)
91394348552,

Question Number : 139 Question Id : 91394312357 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frferfiaa su=mal #t gafia wfew & oy gofea $ifvw | = fae o 52 =1 w@m w0 e ad 3@
#t gfe
gt gt
(a) TTgEardt (i) =@rgur
(b) 3fam v (i) FEAL, HEAWEY

() wEdt (iii) Titeft
(d) e (iv) FrEgres
(v) waErm fewedt
?:
Options:

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234245553,

(a)—(ii), (b)—{iii), (e)—(iv), (d)—(v)
915942458554,

(a)iii), (b)~(iv), (e)—(v), (d)~(D)
913943458555,

(a)—{iv), (b)), (e)—(v), (d)—{ii)
91394348556,

Question Number : 139 Question Id : 91394312357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa sv=rmat it afta wfaw & oy gafaa $if | = foe o5 =1 wm w1 g ad I @
# gfu
T I LaLpt
(a) TN Q&M (i) w@rgur
(b) ¥fow 307 (i) W, WAV

(¢) wEdt (iii) Teteft
(d) shiga (iv) Freagrems
(v) waAm feeeht
?:
Options:

(a)—i), (b)—(ii), (e)(iii), (d)iv)
913943458553,

(a)—(ii), (b)—(iii), (e)~(iv), (d)—~(v)
913943458554,

(a)(iii), (b)(iv), (e)-v), (d)-i)
91394548555,



(a)—{iv), (b)), (e)—(v), (d)—{ii)
91394348556,

Question Number : 140 Question Id : 91394312358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frerfefan seft St 3% Gag Tl & gifera Hife | = R e Fe & wEim e g aE I R
g ;
I LIl
(a) e (i) Tt
(b) Terht ==t (i) ot
(c) Torrerlt 1 Fari (i) Frare

(d) U 3§ g =g, (iv) Ffeera
(v) TR
% :
Options:

(a)—iii), (b)~(iv), (e)(i), (d)—(ii)
91394348557,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
913943458558,

(a)—(ii), (h){(iii), (e)—(iv), (d)(v)
91394348559.

(a)—(iv), (b)-(ii), (e)—(i), (d)iii)
912342458560,

Question Number : 140 Question Id : 91394312358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Frafafiga sarfat it 37 gag wet @ gafea Fifse | = fo 7 $e 1 @ Fd gu e I
g
ol 1 1T
(a) TEe (i) et
(b) Teh ==t (i) foreft
(c) Torererdlt 1 Fori (i) Frare

(d) U 380 gaN =0, (iv) farfarena
(v) TR
C T
Options:

(a)—(iii), (b)—~(iv), (e)—i), (d)—(ii)
91394348557,



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
912342458558,

(a)—ii), (b)—(iii), (e)—{iv), (d)—(v)
9123942458559,

(a)iv), (b)—(ii), (e)—(i), (d)—(iii)
91234548560,

Question Number : 141 Question Id : 91394312359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Preferfan Fre-sel 9 o el % Ty g AR | Y Re e = W R S0 grEd I
wi g
g1 g I
(a) TFem @E () g fgEd
(b) weet aftt Feed (i) agemnt areret
(c) Foram ot frash (i) v firm

(d) FATEH (iv) g fay
(v) 3reaTash Uifas
®e:
Options:
(a)—(iii), (b)—(iv), (e)~(D), (d)~(v)
91394348561,
(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91394348562,
(a)—(ii), (b)—(ii), (e)~(iv), (d)~(v)
91394348563,
(a)—(iv), (b)—(v), (e)—(ii), (d)—(1)
91394348564,

Question Number : 141 Question Id : 91394312359 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gigg?aﬁﬁﬁrﬁmﬁaﬁzﬁhﬁmﬁﬁ%ﬁanwgﬁﬁa#M%q|1ﬁ?ﬁqﬂqqgannﬁmaﬂ%§g¥ﬂTﬁn
et 1 Tt I
(a) THeH GG (i) gt fgadt
(b) =oe 3R FFeq (i) Tegemt areadt
(c) fomm aitt faah (i) ren fe
(d) FTEH (iv) Trorgea g
(v) IFeaTash Uifas

w2
Options:

(a)(iii), (b)(iv), (e)i), (d)—(v)
91394548561,

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594248562,

(a)—(ii), (b)—(iii), (e)~(iv), (d)—(v)
913943458563,

(a)=(iv), (b)~(v), (e)(ii), (d)~(i)
913943458564,

Question Number : 142 Question 1d : 91394312360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frferfiaa aresrerl St 379 gro doa et & e gAfoaa Hif | = fag o 52 =1 v w=d
wdt I H g

T 1 T
(a) =g Tt () sfera =6
(b) wfigee (ii) 9rET

(¢) GEIUEE (iii) HFaH
(d) T 99 (iv) wesftat

(v) gfg
+e

Options:

(a)—(iii), (b)—(v), (e)=(iv), (d)—(ii)
91394348565,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
913943458566,

(a)—(v), (b)), (e)(ii), (d)~(i)
91394348567,



(a)—ii), (b)—(iv), (e)—(i), (d)—v)
91394348568,

Question Number : 142 Question Id : 91394312360 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefafiaa arewarl it 37 gra e Trest & arg gofera Hife | = fag 7 ge 1w e g
T 3 A g

Tt 1 et 11
(a) =g Tt () sfoema =5k
(b) EHftgeen (i) 9T

(c) HEHIEE (iii) Tga-y
(d) ¥t 99 (iv) weaftar

(v) gfeg
E T

Options:

(a)—{iii), (b)~(v), (e)=(iv), (d)—(ii)
91394348565,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394345566,

(a)—(v), (b)—(iii), (e)(ii), (d)—(i)
91394348567,

(a)-ii), (b)—(iv), (e)—(i), (d)—v)
91394348568,

Question Number : 143 Question Id : 91394312361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ar-wifees @ wrag Frafafigs wed +t 35 st % oy gafaa fifse | = fae T e 0 wim
Fd Y HE IT K g

ol 1 Tl 11
(a) TR arhen s (1) i i
(b) gl Weart &g Ud § (i) FHeat
(c) @l @ TifeRea™ (i) TG g
(d) STEH ATH (iv) @ Hgar

(v) Tavemmeyarg foadt

e
Options:

(a)—(iv), (b)—~(1), (e)—(ii), (d)—(v)
91394348569,



(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91334248570,

(a)—ii), (b)—(iii), (e)-{iv), (d)—~1)
91394348571,

(a)iii), (b)—(iv), (e)—w), (d)—(ii)
91334548572,

Question Number : 143 Question Id : 91394312361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

arn-uifeen @ wrag Freafafas mmedt #t 35 st % oy gafeaa Hifse | = e e g # W
Fd BY HE I A g

g1 g I
(a) foramm orehem amehmer (i) i s
(b) &1 Foan @R Ud & (i) FHeIvan
(c) @l Z@ wifrea™  (iii) g I8
(d) FHAEH T (iv) a1 Hgan

(v) Tavammerymrg feard

&2
Options:

(a)—{iv), (b)~1), (e)—(ii), (d)—(v)
91334548569,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912324248570,

(a)—(ii), (b)—(iii), (e)~iv), (d)—(i)
H91334548571.

(a)—(iii), (b)—~(iv), (e)—=(v), (d)—(ii)
91334248572,

Question Number : 144 Question Id : 91394312362 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prafafan fagmal i gaftr faamet % @y gifaa fifse | A= e e e & w@im =@ g wd 3=
w9

gt gt I
(a) HT=ATETE (i) @ms.u. fgga (LA. Richards)
(b) Ffereaarg (ii) #eme et & (Claude Levi-strauss)
(c) ge4 figrg (i) 31ewd F (Albert Camus)
(d) Feefarg (iv) S9¢at = (Benedetto Croce)

(v) T & (G. Lukacs)

%2
Options:

(a)—v), (b)—1), (e)(iv), (d)-ii)
913945348573,

(a)—(ii), (b)), (e)1), (d)-v)
9139434857 4.

(a)ii), (b)—(iv), (e)-iil), (d)~(1)
91394348575,

(a)—(i), (b)—(ii), (e)—(iv), (d)iii)
91394348576,

Question Number : 144 Question 1d : 91394312362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Praferfiaa fagral #t dafia fammai % @y gifea Fifv | f= fg e g2 *1 W @ g ad sm
i g :

el 1 el 11
(a) HT=HTET] (i) @mi.u. fgd| (LA. Richards)
(b) fEreaaTg (i) ¥TE At |H (Claude Levi-strauss)
(c) qea fogra (i) 3fe=d FY (Albert Camus)
(d) FuTefaTg (iv) St 3 (Benedetto Croce)

(v) W9 &%M (G. Lukacs)

Fe:
Options:

(a)-v), (b)—(i), (e)(iv), (d)-ii)
91394348573,

(a)—(ii), (b)—(iii), (e)~(1), (d)—(v)
9139434857 4.

(a)—(ii), (b)—(iv), (e)(iii), (d)—(i)
91394348575,



(a)—(i), (b)—(ii), (e)—(iv), (d)iii)
91394348576,

Question Number : 145 Question Id : 91394312363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wmﬁmmﬁmwmnﬁmmﬁmmm@@m
I gl
(a) @gsterrd aat (i) wiwereg o & frem
(b) THETEY Iqagl (i) 7§ Fiadr % Ffa=m
(¢) T fifg =it (iii) From 1 gfere
(d) g fag (iv) 7 orfecs =1 atgdames
(v) &=t anfeen & ot =f

®e
Options:

(a)—(ii), (b)), (e)~v), (d)~(i)
91394348577,

(a)—(iii), (b)), (e)—(iv), (d)—(ii)
91394348578,

(a)—(i), (b)—(v), (e)(ii), (d)—(iii)
9139434857 9.

(a)(iv), (b)ii), (e)i), (d)-v)
912342458580,

Question Number : 145 Question Id : 91394312363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wmﬁmmﬁmmmlﬁmmgmmm@wm
et 1 ESiplt
(a) Afird awl () witered 3fit S Sfa
(b) UwEaEY Wqaal (i) 7% Hidar & wfoaE
(c) fraer fée <ftem (iii) FEmE 1 GideEA
(d) fragam fay (iv) T wifeer &1 divgdare
(v) f&dt wfees & anft o

H:
Options:

(a)—(ii), (b)—(iii), (e)~(v), (d)—(i)
91394348577,



(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394348575,

(a)-D), (b)—(v), (e)(ii), (d)—(iii)
91394348579

(a)—(iv), (b)—(ii), (e)(i), (d)v)
913943438580,

Sub-Section Number : 6
Sub-Section I1d: 913943629
Question Shuffling Allowed : Yes

Question Id : 91394312364 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

g : et sEatn #it SgE® 91T ST 3a@ Fatua 31 & I % fog 7 7e o & &
Tt fawey %1 w797 Fifaw

ferafaam aga @ fasjae &l &1 s aq=a g 8 | Iae e Sfas off ST it ‘e J 7
g % faalia wete et gem oft el ‘whar’ 1 stae g @ | gt fore weltent Bt S @ S-eEe
T difehen TTfd avad tedt & | v ferafaum 4 aifshes anfa &1 arn s sy s 2, of ol
aqreft +ft et ot 97 Imeht dfiar St FH Hwdt 7, qoQrdt T | wdtw F Gia wfa % safwra e d
& TehaT &, Trg I ATehe AR Fremt % e o T gan | 36 % b d, s s @
Hat, Uk YHR I g 71 gew difge Won avd w7, weq e w5 gepl gt sefies frat
& R0 91 e @ | gafere 39 % wue | wr: syetfgswan, swafdty oit safaswn arn s @ | vt
i iR s g1 Bl e

2 | 3o famfra fova o fore, s & et oft vt oo od & e B | @ et e gfee-
ferraras &t = 2t g, wn ofit TaTguE B wehdl @ | wftes foRht ang 1 Temiea 1 e, Saw
Heha gr0 38 it forelt fardman =t eafia e B | gefifere st 1 go awel & avem of v w0 @
ot wevra & wehat & | W fara < Srofrren 3w % @ A % oy wt R

Sub questions

Question Number : 146 Question 1d : 91394312365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Teffeh o ATehol o1 TG F91 8 ?
Options:
st T
Q91394248581

Fagiee o1 gew dtfgsh Soon

B91334548582.

W#Wﬂﬂﬁﬂﬁﬁﬂﬁm

91334548583,



Ftq 1 e s
91394348584,

Question Number : 147 Question 1d : 91394312366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafigs & @ Shm sy adh 8 2

Options:

fora TR % w0 w0 o 4 Een |

913345458585,

91394345586, fareafarerm & e wirfer <echt 2

forra-faam wga-& fay =
91394348587, -8 R o = e

forear <6t Srwofferam 3ok g ded & T gt 21
91394348588

Question Number : 148 Question Id : 91394312367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fr=fefiga & @ -8 %= o8t 7872 2
Options:

2915394248589, st st sfee Tt & |

wefteh Teha gr aq ot Ferstwar safia wwan & |
91394348590,

TefTeh 1 TR Sfia hl A1 & |
91394348591

Tefteh =1 el H e TR FUH WA B |
91394348592 e et e ¢

Question Number : 149 Question Id : 91394312368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fFefafEn dd s m sm adt 2 2
Options:
drfehen wmifer foma it et 6t w@Et &
91394348593,
Tefteht # difeheh drfer =1 9TE BT 2 |

9153942458594,



91394348595, e 3 vt # arltfigepa, srmafaiy st wafosm 7 &t |

ferear s g amrgfires Fremi EingR
91394348596, L &

Question Number : 150 Question Id : 91394312369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frefefiaa & & a s adt 2 2

Options:

91394348597 fara <t wfer Pt gfee forwar, @i @

forear 1 sfea o fopelt wo ot o @ siframd 2
91394348598

Tt ATG, W AT T&TG § wrafud T8 e |
91394348599,

farrar AT @ srmEg BT £

91234548600,

Question Id : 91394312364 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

g : et sEatn #it SgE® 91T ST 3a@ Fatua 31 & I % fog 7 7e o & &
Tt fawey %1 w797 Fifau

ferafaam aga @ fasjae &l &1 s ay=rg g 8 | Iae amam Sfam off s it ‘et | #
g % faalia wetes forelt gem ofit el ‘wehar’ 1 sitaes gran @ | geft fore weftent Bt Ao @ SH-sEe
T difehen dTfd aravd Tedt & | vt ferafaum 4 oifshe dnfa &t arn s sy swenve R, i ol
qreft ot seft ot a7 Imeht fiwar wt Fw Fwdt R, GQrdt T | wdtw = gia wfa % safwra gt g
& TehaT &, Trg T ATk IR Tt % amam o T gtan | 36 % Pt d, s w9 @
&, Uk YHR F g 91 qew difgsn Won avd w7, weg fvw o el gfen spefies fr
& I g1 Wl & | gafe 39 % guea | wr: sweifgewan, safdta it safsa arn s @ 1wt
i iR s g1 & B e
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Sub questions

Question Number : 146 Question 1d : 91394312365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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Question Number : 147 Question Id : 91394312366 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 148 Question Id : 91394312367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Question Number : 149 Question Id : 91394312368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Question Number : 150 Question Id : 91394312369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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